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Question No. 1
In which of the following cities is the longest beach in India located?
A) Mangalore B) Chennai
C) Mumbai D) Cochin
HRT &1 Fad " FHG d¢ 5 ¥ fFy e & ua g2
A) HITIR B) deels
Q) |, 78 D) PRI
Answer Key : B Your Response : Not Answered

Question No. 2

If a person weighs 66 kg on the Earth, how much is his weight on the moon?
A) 55kg B) 11kg

C) 132 kg D) 77 kg

Ife frdlt safda &1 & qedy oX 66 fFarm &, Y <eew o 3w AR FRce gem?

A) 55 forarm B) 11 frarr
C) 132 foparm D) 77 TR
Answer Key : B Your Response : B (Correct)

Question No. 3

If P and Q together can do a job in 15 days, Q and R together can do it in 12 days and P and R
together can do the same in 20 days, then in how many days will the job be completed, if all the
three work together?

A) 4 days B) 6 days



C) 10 days D) 14 days

Ifg P 3R Q e fBFe & & 15 At # qU & ¥9a §, Q 3R R e 38 &1 & 12
el F FT Tha & 3 P 3 R At 3@ 20 AT & = g=a §, aF = Res 330 7 =
e feat 7 qur s

A) 4 R B) 6 R MyEducationWire
C) 10 &= D) 14 &=
Answer Key : C Your Response : C (Correct)

Question No. 4

What is the distance of the principal focus F from the pole P of the spherical mirror called?
A) Image distance (v) B) Focal length (f)

C) Object distance (u) D) Virtual distance

AMeNT 4o & g P & HET Bihd F 1 gl I 41 Sgl Sl g2

A) gfafss & af (v) B) BIHIE Y (f)
C) I&d T ah (u) D) SMTHMTG Iy
Answer Key : B Your Response : B (Correct)

Question No. 5

Complete the series.

SHG, RIF, QJE, PKD, (...)

A) NMC B) OLC
C) NLB D) OLE
Soft s gt |

SHG, RIF, QJE, PKD, (.)

A) NMC B) OLC



C) NLB D) OLE

Answer Key : B Your Response : B (Correct)

Question No. 6 MyEducationWire

Burning of fossil fuels causes increased amounts of carbon dioxide in atmosphere and what is
the name of the harmful effect caused due to this?

A) Pollution effect B) Chemical effect

C) Greenhouse effect D) Carbon effect

SHarRA $u & Sol § AT F FEA sgdieass B OAE A R 58 § IR sEF FROT @
arel glfeihRe YHIG FT AT =1 g7

A) YE§UT SHTT B) TH™IES Wi
C) IM=gr3d vHg D) e T d
Answer Key : C Your Response : C (Correct)

Question No. 7

Who among the following scored the first-ever triple century in a test match?
A) Virender Sehwag B) Andy Sandham

C) Brian Lara D) Chris Gayle

T 7 ¥ a5 e #39 & ggel-eR AT ads ST ar?

A) deg |Eamwr B) TSI duH
C) I RT D) Tohd T
Answer Key : B Your Response : C (Wrong)

Question No. 8

Find the ODD one out from the given options.

A) B)



C) D)
few v wedt & § I A
MyEducationWire
A) B)
C) D)
Answer Key : C Your Response : C (Correct)

If tan(A + B) = 0. then-

A)

Question No. 9




tanA+tanB=0 tanA=tan B

MyEducationWire
) D)
2t311A+tanB:1 2tauA+tanBz
l-tanAtan B l+tanAtan B
I tan(A+ B)=0, ar-
A) B)
tanA+tanB=0 tanA =tan B
Q) D)
2ta11A+tanB:1 2tauA+tanBz
l1-tanAtan B l1+tan Atan B
Answer Key : A Your Response : A (Correct)

Question No. 10

The length of a rectangle is halved, and its breadth is tripled. What is the percentage change in
its area?

A) 50% increase B) 50% decrease

C) 75% decrease D) 25% increase

el 3maa i S @ 3mem AR Sl Fr A9 T W I Sar §1 39F eAwe 7 e aren



yfaera aRada aig e

A) 50% Sgar gl B) 50% Hcdlgl
C) 75%Tcargl D) 25% SgdI gl
Answer Key : A Your Response : C (Wrong)

Question No. 11

The longest bone in the body is the-

A) Femur B) Scapula
C) Spine D) Humerus
R T W ol g3 T W 872
A) ST $r FgE B) & I g3l
C) g &r gzar D) weifser
Answer Key : A Your Response : Not Answered

Question No. 12

Who presided over the inaugural meeting of the Constituent Assembly of India?
A) Dr. B.R. Ambedkar B) Dr. Rajendra Prasad

C) Sachchidananda Sinha D) P. Upendra

ARG T WU T T 9YH 55 A JAeeTar Faa Hr?

A) sf. B.R. 35T B) . 3M'g WG
C) afcagree fwar D) P.3U &
Answer Key : C Your Response : Not Answered

Question No. 13

In a certain code, 'LANDMINE' is written as 'PYRBQGRC'. How will 'HOMEMADE' be written in
that code?

A) LMOCOZID B) LMPCOYHC

C) LMPCPZID D) LMQCQYHC



Ifg Rl fAfad Fesmm F 'LANDMINE' & 'PYRBQGRC' far@r &mar g, o 3 gesmr &
'HOMEMADE' &I &3 fer@r smuam?

A) LMOCOZID B) LMPCOYHC
C) LMPCPZID D) LMQCQYHC
Answer Key : D Your Response : D (Correct)

Question No. 14

Valence shell is the shell of every element.
A) First B) Middle
C) Penultimate D) Outermost
TS FRr(Valence shell) 8T acd 1 I BT E
A) 9¥H B) #EY
C) aEgdd 4 Jgal D) aregdH
Answer Key : D Your Response : D (Correct)

Question No. 15

How many triangles are there in the given figure?

A) B)

24



19

& 7% Ipfa # fhaa Rl 82
MyEducationWire
A B) 15
24
Q) D) 9
19
Answer Key : B Your Response : Not Answered

Question No. 16

If 'ELCSUM' is coded as 'MUSCLE!', how will 'LATIPAC' be coded?
A) CONDUCE B) CONFESS

C) CAPRICE D) CAPITAL

Ifg 'ELCSUM' @I 'MUSCLE' &ifsd fam Sirer &, o 'LATIPAC' &I @ Sifsd fhar smeem?
A) CONDUCE B) CONFESS

C) CAPRICE D) CAPITAL

Answer Key : D Your Response : Not Answered



Question No. 17

Which of these pairs of numbers CANNOT be the last two digits a, b in 21022ab, if it is divisible
by both 8 and 5?

A) a=2,b=0 B) a=0,b=0
C) a=8,b=0 D) a=4,b=5

afe 21022ab # 8 3R 5 AT & AT frar ST &, o st @ FlaT @1 &I A, dEw
21022ab & 3ifae ar 3% a, b 7T & TFa 87

A) a=2,b=0 B) a=0,b=0

C) a=8,b=0 D) a=4,b=5

Answer Key : This Question is dropped and
Your Response : D
will not be consider during the evaluation

Question No. 18

Why should an electrician wear rubber gloves while repairing an electrical switch?
A) To avoid electric shock B) To handle the devices easily

C) To clean the switch D) To avoid slipping of materials

g a1 AFHAT T THT Sl B T & G T Tgeial aIiee?

A) TSTelr & ek & gdo & Tov B) 39YHIUN HI AT & 85 Pl & (ol
C) RaT &I ar% &=l & fou D) @A FI hacl & ddel & fow
Answer Key : A Your Response : A (Correct)

Question No. 19

Which of the following games is associated with Thomas Cup?
A) Football B) Badminton

C) Hockey D) Basketball

AT 7 A ST OT @ IAF T A GafOT 272

A\

A) edrd B) d¥sfies



C) giehr D) aTEheaTe

Answer Key : B Your Response : Not Answered

Question No. 20

If x = 28 and x* = 2Y, then find the value of 'y'.
A) 1 B) 24

C) 264 D) 2

iy x = 28 3w xX = 2Y, ar 'y &1 A AT ffSw)

A) 1 B) o4
C) 2064 D) 11
Answer Key : D Your Response : Not Answered

Question No. 21

Find the ODD one out from the given options.

A) 25 B) 60
C) 30 D) 15
R T Rsedt 3 F AT F L)
A) 25 B) 60
C) 30 D) 15
Answer Key : A Your Response : A (Correct)

Question No. 22

In this question, two statements are given followed by two conclusions. Choose the
conclusion(s) which best fit(s) logically.

Statements:
1) Some fools are intelligent.
2) Some children are intelligent.



Conclusions: MyEducationWire

I. Some fools are children.
Il. All children are intelligent.

A) Neither conclusion | nor Il follows B) Only conclusion | follows

C) Both conclusions | and Il follow D) Only conclusion Il follows

39 W #, & FYE F 4G o faswd e aw {1 3@ s &) A g o arfees 9 & ae
39 &l

1) 3o 7@, IRA= &

2) ¥© T, YA &

fasay:

. $T 7Y, T4 &l

II. 3t s=x), gieAT &

A) & @ forsey | 3R A & 1 3ueEd § B) Fae fasey | 3ugerd &

C) &l forsshd | 3 1| 39Tgd g D) ae foshy Il 39zed g
Answer Key : A Your Response : Not Answered

Question No. 23

An article is marked 20% above the cost price and sold at a discount of 20%. What is the net
result of this sale?

A) 10% gain B) No profit or loss

C) 10% loss D) 4% loss



U a] N 3fd Hed, T HeT § 20% H®F § A 3& 20% A P W AAr ST g W
il 7 g€ IRomA AT fifwl

A) 10% AT B) IS WM AT &I Al
C) 10% grfer D) 4% gifa
Answer Key : D Your Response : Not Answered

Question No. 24

Which word will best complete the relationship given below?

Needle : Sew :: Knife : ?
A) Cut B) Drive

C) Feed D) Grind

FleT WM eMeg A R a1 Heer & @@y s § qoF wem?

A) DpIcHl B) -l
C) WHI D) UG
Answer Key : A Your Response : A (Correct)

Question No. 25

A boat goes upstream at 36 km/h and downstream at 40 km/h. The distance covered in each
trip being the same, find the speed of boat in still water.

A) 45 km/h B) 34 km/h

C) 38 km/h D) 2 km/h

Ueh oG I Ol T fr AT e & 36 Ay / ger 3 arr & 2w 7 40 ey / =er B



Wwﬁm@rwﬁq&a‘rmmﬁg& N STl 3 oG ST ITel AT SIfoIT|

A) 45 TRaY [ "er B) 34 fhaT / ger
C) 38 st / "er D)2ﬁwﬁ/'€i€r
Answer Key : C Your Response : C (Correct)

Question No. 26

Find the LCM of 2/3 and 6/7.
A) 6/21 B) 12/21

C) 2/21 D) 6

2/3 3R 6/7 &1 9. €. 9. (LCM) 7T Hifaw]

A) 6/21 B) 12/21
C) 2/21 D) 6
Answer Key : D Your Response : D (Correct)

Question No. 27

Which Greek letter denotes wavelength?

A) Epsilon (€) B) Mu (u)
C) Omega (w) D) Lambda (A)
FleT &1 M AR T S Fr geiiar ¥7
A) TTCHdT (3 B) == (1)
C) SH( w) D) &%= ()
Answer Key : D Your Response:D  (Correct)

Question No. 28

Who among the following took charge as the MD, CEO of Yes Bank in March 20197
A) Ravneet Gill B) Amitabh Chaudhry

C) Pallav Mohapatra D) Aditya Puri



T # ¥ Fue A 2019 & 39 §%F & vHS, WS & §9 H 9SHR Ig0T HAr?

A) I@eAa e B) 3ifadreT daleRy
C) Ycold HGIUTE D) 3mfeeg ol
Answer Key : A Your Response : Not Answered

Question No. 29

State two factors on which the electrical energy consumed by an electric appliance depends.

A) The power rating of the appliance and the B) The energy and the time for which it is

time for which it is used used

C) The voltage and the current D) The power rating and the temperature

T TG 39OT H T e arel ey Folt et ar wReAr W AR Fedr 87

A) 3URIOT T ATFT T IR 5TF IuAET F B) Folr 3N @S ITIANT & THAT W
papatsory

C) alecol 3R T W D) erfFa e 3k ag w

Answer Key : A Your Response : Not Answered

Question No. 30

P works twice as fast as Q. Q alone can complete some work in 12 days. Working together,
how long will P and Q take to complete the work?

A) 8 days B) 4 days

C) 6 days D) 10 days

P, Q ¥ &Y 36T ol & &/ Far §1 Q b el & @ 12 &t & qu & @Far g1 P 3R
Q H T AT FATH 30 F H QU FA F Rrcdelm AT wFam?

A) 8 & B) 4 &=
C) 6 f&a D) 10 &
Answer Key : B Your Response : B (Correct)

Question No. 31

Which of the following non-metals is a good conductor of electricity?



A) Bromine B) Hydrogen

C) Graphite D) Phosphorus
REaTaT 7 & Fle W Mg Mg 1 g &7 MyEducationWire
A) S B) &gt
C) IwIsT D) WIERRY
Answer Key : C Your Response : C (Correct)

Question No. 32

What is the area included between a circle and an inscribed square of side 'a’ units?
A) a?*21m - 1) sq. units B) (a*2)(1r - 2) sq. units

C) a*2 - 1) sq. units D) 2a*(m - 2) sq. units

T oo AR 38& 3T RAAT 'a' oo arer @ & e wfesfed Sawe A Rifoe?

A) a2 w- 1) @ sFIE B) (a2/2)( m - 2) T SHIS
C) a2(2- ) a9 3PS D) 2az( T - 2) 33 S
Answer Key : B Your Response : Not Answered

Question No. 33

Why does a mechanic apply grease between the moving parts of a bicycle or a motor?
A) To clean the parts B) To make the parts look shiny

C) As a lubricant to reduce friction D) Toremove rust

AFfaw, dEfre I Ay & sifaliar fwat & &g e a=F Forrar g2
A) Gt @ °9% F & faw B) UGSl I IARCR dallal & folw
C) GYUT il FH A & foIT Tohgeh & FT H D) 97 el & Tav

Answer Key : C Your Response : C (Correct)

Question No. 34

Ratio of speeds of two vehicles is 7 : 8. If the second vehicle covers 400 km in 5 hours, what is



the speed of the first vehicle?
A) 65 km/h B) 85 km/h

C) 70 km/h D) 75 km/h

ar argall < UTel T 3eUTd 7: 8 ¥l IfE GENr areel 5 € H 400 fRAr A gl OF Har @,
Ugel dlgel s Ol A HifaT|

A) 65 fef/aer B) 85 fhal/aer
C) 70 fers/aer D) 75 ferel/eaer
Answer Key : C Your Response : C (Correct)

Question No. 35

Choose from the alternatives the figure that best completes the

pattern given below.

A) B)




few 71w Reredr # & 38 PG g4, A A U 10 e F [ T
gl

?
A) B)
Jax D
Q) D)
d
Answer Key : D Your Response : D (Correct)

Question No. 36

What is the expansion of NASA?

A) National Agency of Space Administration B) Navigational Aeronautics and Space

Administration

C) National Aeronautics and Space D) National Aeronautics and Space Agency

Administration

NASA &I QU7 §9 &I §?
A) TTFE THE e O wsfalaweys B) afddeere TR Us oy

(National Agency of Space UsTHTIECe  (Navigational — Aeronautics
Administration) and Space Administration)

C) AT WHifeay U TWH USfARE D) Aedd Wisliedd Us TIE T (National
(National  Aeronautics and  Space Aeronautics and Space Agency)

Administration)



Answer Key : C

What does insulin regulate?
A) Reproduction

C) Blood glucose level

sgfoeT fFe Rfafda aar 872
A) Seteiel
C) TFd AFT F TR

Answer Key : C

Complete the series.

8888, 666, 44, (...)
A) 20

C) 0
Ao I QT H

8888, 666, 44, (...)
A) 20
C) 0

Answer Key : B

Your Response : Not Answered

Question No. 37 MyEducationWire

B) Heart beat

D) Physical growth

B) % aifa
D) it fashr

Your Response : C (Correct)

Question No. 38

D) 22

Your Response : B (Correct)

Question No. 39

Find the missing number in the following series.

864, 432, 440, 220, (...), 114

A) 237

B) 239



C) 232 D) 228

fArfaf@d Aol & eufeya d@ear a RS

864, 432, 440, 220, (.), 114

A) 237 B) 239
C) 232 D) 228
Answer Key : D Your Response : D

Question No. 40

(Correct)

The smell of the perfume reaches our nose quickly due to the process of-

A) Diffusion B) Condensation

C) Evaporation D) Fusion

mqﬁWT%Wﬁﬁwmaﬁﬁm#qﬁﬂaﬁr%?

A) faaor B) U
C) arsdreRor D) Yo
Answer Key : A Your Response : A

Question No. 41

Find the value of cos 120° cos 240° cos 180° cos 60°.
A) -1/8 B) 1/2

C) 1/4 D) 1/16

cos 120° cos 240° cos 180° cos 60° T HTH AT AT
A) -1/8 B) 1/2

C) 1/4 D) 1/16

Answer Key : A Your Response : A

(Correct)

(Correct)



Question No. 42

The Sabarmati River orginates from which Indian State?

A) Uttar Pradesh B) Guijarat
C) Bengal D) Rajasthan
WA A& ARG & B T A e ¥2 MyEducationWire
A) I g B) T ORId
C) D) Irsredr
Answer Key : D Your Response : Not Answered

Question No. 43

The sum of ages of 5 children born at intervals of four years is 80. What is the age of the eldest
child?

A) 16 B) 24

C) 18 D) 28

4 9§ & IR 9T a7 @1 ATy 5 Sl Y HY 1 AT 80 Bl FON 93 q= T Y ekl g2

A) 16 B) 24
C) 18 D) 28
Answer Key : B Your Response : Not Answered

Question No. 44

Plaster of Paris hardens by-

A) Giving of carbon dioxide B) Changing into CaCO3
C) Giving out water D) Combining with water
CaReY 3HTH aRE FOI & ST gl

A) FET 3B 3FESS Icafold Ph B) CaCO 3 ¥ 9Rafdd gl

C) U= 3cHfoTd i D) 9= & A Ao



Answer Key : D Your Response : D (Correct)

Question No. 45

In whose court was Chanakya a minister?
A) Chandragupta Maurya B) Ashoka

C) Bindusara D) Dasharatha Maurya

IO e @R &7 J3r A7

A) Tgaed A B) 3N
C) e AR D) &Ry #AR
Answer Key : A Your Response : Not Answered

Question No. 46

The unit of Joule per Coulomb is-

A) Ampere (A) B) Joule (J)
C) Volt (V) D) Coulomb (C)
SRR H TS T &2
A) tfFgIR (A) B) S <@ (J)
C) dleT (V) D) R (C)
Answer Key : C Your Response : C (Correct)

Question No. 47

Who among the following discovered the presence of neutrons in the nucleus of an atom?
A) E. Rutherford B) J.J. Thomson

C) E. Goldstein D) J. Chadwick

ffaf@a & ¥ fraer wey & aiffs F gl i 3ufdfa 6 @ier A
A) E. TEI@S B) J.J. 4TA9H

C) E. Mes&= D) J. =rsfasw



Answer Key : D Your Response : A (Wrong)

Question No. 48

Kiran Bedi is the present Lieutenant Governor of-

A) Karnataka B) Puducherry
C) Goa D) Kerala
fRoradr & gdAs 3SWII Bl
A) FelcH B) UgeRl
C) T D) I
Answer Key : B Your Response : Not Answered

Question No. 49

Read the following information carefully and answer the question given below.

Eight captains of different football teams—Russia, Brazil, India, Argentina, Mexico, Peru, Spain

and Japan are sitting around a circular table and are facing the centre, but not necessarily in
the same order. Indian captain sits third to the left of the Mexico captain. Only two people sit

between the Russian captain and Spain captain. Neither the Russian captain nor Spain captain
is an immediate neighbour of the Indian captain. The captain of Japan sits second to the right of

the Peru captain. Peru captain is not an immediate neighbour of the Indian captain. The
Russian captain sits third to the left of the Indian captain. Captains of Argentina and Brazil are

not immediate neighbours. Argentina captain sits third to the left of the Peru captain.

Which of the following captains sits to the immediate right of the captain of Mexico?
A) Spain B) Russia

C) Argentina D) Peru

ATA@d IRRY A & & 9¢ 3R Y Re 1w e &1 3c’ &



gedhR AT & °RT 3R Fg A 3 Hg =& A §, Afka 3aar g A F g A 781 2
RT & Fedled, ARFTR F Fedled & T8 I TN TUF W 83 &1 ¥ F Foad AR W &
FCAT & 1T hael & AT 385 1 T & FoaT 3R W & FeaeT F F FS Y 7RT & FoaeT
F Fecad TR 7 &1 I F Fea, T F Fo F A IR g T R IS § W F
Fodld, AR & ol & fAdhead TSI 61 &l §H & FHodld, AR & Foaid & a5 AN dR
W W &3 &1 368 3R Joia & Foae Aeedd TR J8T &1 3T & Fede 9% &
Folel & a5 R AT T W 33§

Afaf@a 7 & FiF a1 Foa, AfFasr & FoadT F TS IR TheH T & JoT 872

A) T B) &
C) 3rSidter D) 9&
Answer Key : D Your Response : Not Answered

Question No. 50

If in a certain language 'CASUAL' is coded as 'GEWYEP', how is 'PEOPLE' coded in that
language?

A) TISTPI B) SHRSOH

C) SIRTOL D) THSTOI

Ife T GCHTIT # 'CASUAL' &I 'GEWYEP' for@r arar &, ar 387 smwr & 'PEOPLE' & &
forEr Sreem?

A) TISTPI B) SHRSOH
C) SIRTOL D) THSTOI
Answer Key : A Your Response : A (Correct)

Question No. 51

What is the chemical symbol for nitrogen gas?

A) Na B) Ni



Asei A T T Sl T §2
A) Na B) Ni
C) N3 D) N+
Answer Key : C Your Response : C (Correct)

Question No. 52

Sam is facing east and moves 5 km forward. After reaching 5 km, he turns left side two times.
Which side is he facing now?

A) South B) East

C) North D) West

¥ & farm @ AN 5 et Terar 1 6 fFel ge@ & a1g, 9 & AR 91 AN {3AT ¥ IS @
forar femm r 3R Hg Thar g3m @2

A) gfaror B) Ug
C) 3ceR D) uf¥a#
Answer Key : D Your Response : D (Correct)

Question No. 53

'Cataract’ is a disease that affects the

A) Heart B) Eyes
C) Ears D) Legs
‘Afaariee v Al §, & gHIfaa e &l
A) 2T B) SRg
C) dH D) W
Answer Key : B Your Response : B (Correct)

Question No. 54




A train P starts from Meerut at 4 p.m. and reaches Ghaziabad at 5 p.m., while another train Q
starts from Ghaziabad at 4 p.m. and reaches Meerut at 5:30 pm. At what time will the two trains
cross each other?

A) 4:42 p.m. B) 4:48 p.m.

C) 4:50 p.m. D) 4:36 p.m.
TS YEEMST P ATE A A 4 91 Tl YE Fch § AR A4 5 qo fSrEe agadh 8 SAaih

GEd RS Q ISEATETE & AH 4 T Tk YE Pl § IR AH 5.30 T ATS GgAch g1
YEETEA U gEN @ R §HT OR T

A) T 4:42 B) ITH 4:48 Fo MyEducationWire
C) M 4:50 §f D) M 4:36 TSl
Answer Key : D Your Response : Not Answered

Question No. 55

MnQO» + 4HCI —-MnCls +2H20 + Clo is an example of-

A) Combustion reaction B) Combination reaction

C) Precipitation reaction D) Redox reaction

MnO, + 4HCI -MnCly, +2H,0 + Cly T Th 3GTE0T g

A) TgoT THTRAT B) IS 3TRRAT

C) 3Hgerqur rTHfhRar D) uaagay (Eed) ’fafwar
Answer Key : D Your Response : D (Correct)

Question No. 56

Which creature grows again after it is cut into half?
A) Earthworm B) Cockroach

C) Lizard D) Frog

FleT W AT A& gt # T TN F aG B F 9 A §?

A) B3 B) faeraeT (aispra)



C) fuerel D) Hedh

Answer Key : A Your Response : A (Correct)

Question No. 57

Blood is an example of _ type of tissue.
A) Epithelial B) Nervous
C) Muscle D) Connective
WA ____ YR & 3% $T Th 30T &
A) 3Ubdl B) dfEdhrr
C) AiguRt D) aroi
Answer Key : D Your Response : Not Answered

Question No. 58

Simplify: 1/4 + 3/8 - 1/2 + 3/4 - 1/3
A) -13/24 B) 17/24

C) 5/24 D) 13/24

W Hfoe: 1/4 + 3/8 - 1/2 + 3/4 - 1/3

A) -13/24 B) 17/24
C) 5/24 D) 13/24
Answer Key : D Your Response : A (Wrong)

Question No. 59

The common name of sodium hydrogen carbonate is-
A) Common salt B) Epsom salt

C) Milk of magnesia D) Baking soda

QIf3T# gEsleld FEfe H QAT A7 T 872

A) HIYRU {HD B) T YT IH® (Epsom salt)



C) e 3% HeahfRmrm D) SfFTHET

Answer Key : D Your Response : D (Correct)

Question No. 60

Find the total surface area of a hollow hemispherical bowl of diameter 14 cm and negligible

thickness.
A) 576 cm?2 B) 628 cm?2
C) 616 cm?2 D) 526 cm?2

14 @t g IR A0 A d Th @A HENAHR FER H Fol ST &bl AT
ATl

A) 576 Tt @Y B) 628 adT J=Y
C) 616 TaT TeT D) 526 @1 THT
Answer Key : C Your Response : Not Answered

Question No. 61

On which dates will Sundays come in February 20207
A) 3,10, 17, 24 of February B) 8, 15, 22, 29 of February

C) 2,9, 16, 23 of February D) 5,12, 19, 26 of February

WLl 2020 # fopet fAfAAT Y daR gem?

A) &l 3, 10, 17, 24 B) wIadl 8, 15, 22, 29
C) Wair 2, 9, 16, 23 D) ®adl 5, 12, 19, 26
Answer Key : C Your Response : Not Answered

Question No. 62

Complete the series.



148, 150, 156, 168, (...)

A) 174 B) 182
C) 176 D) 188
Foft & qot &Y

148, 150, 156, 168, (..)

A) 174 B) 182
C) 176 D) 188
Answer Key : D Your Response : Not Answered

Question No. 63

Which vitamin is used for the treatment of common cold?
A) Vitamin 'A’ B) Vitamin'C'

C) Vitamin 'D' D) Vitamin 'B'

AT A & el & v o @ef@a & sqaer Far s g2

A) Rerfde A B) faerf®e 'C
C) A= 'D' D) e 'B'
Answer Key : B Your Response : Not Answered

Question No. 64

India Post Payments Bank (IPPB) has tied up with which Insurance company to provide
insurance to all?

A) Bajaj Allianz Life Insurance B) Birla Sun Life Insurance

C) New India Assurance D) ICICI Prudential Life Insurance



$f3a1 de WicH dF (IPPB) & Wt & AT Yo & & fow fFw fier ol & |y ot
fopar 87

A) T3S AT AEE AN B) ToRem T« o8% 3aRY
C) =, 3f3ar wealy D) ICICI &I ash 2R
Answer Key : A Your Response : Not Answered
Ouestion No. 65 MyEducationWire

Which of these is India's first indigenously built submarine?
A) Vikram B) Vijay

C) Shalki D) Vikrant

g & P ARG Fr Tgen Ty T Tege €7

A) TaswH B) fa=r&
C) 2 oh D) ICEAG
Answer Key : C Your Response : Not Answered

Question No. 66

An aeroplane is moving at a constant altitude 'h'. At 10:00 AM, it is seen at an elevation of 30°.
1 minute later, it is observed at an elevation of 60°. If the speed of the plane is 960 km/h, then
find 'h'.

A) 13.86 km B) 15 km

C) 12.46 km D) 20 km

Tsh ga$ SEe O A€ 'h' I 33 W@ &1 9 10:00 S, I§ 30° & 314l T W @S
&aT &1 1 fAie 91g, g 60° & Iowidd HivT W @r$ &ar §1 I Rwe Hr arer 960 e / wer
g, dr 'h' FT A AT PfSC

A) 13.86 Ty B) 15 fareft
C) 12.46 ToRaAT D) 20 oY
Answer Key : A Your Response : Not Answered

Question No. 67




Butanone is a four-carbon compound with the functional group-

A) Carboxylic acid B) Ketone
C) Aldehyde D) Alcohol
AT FRATHS FHE Iod Toh IR-Fel arer Afaw g
A) reffFaios srFe B) hralsT
C) tfeserss D) Tedlgd
Answer Key : B Your Response : B (Correct)

Question No. 68

What is the gain per cent, while selling 33 m of cloth, if there is a gain equal to the selling price
of 11 m?

A) 60% B) 50%

C) 25% D) 45%

Ssmmﬁﬁﬂwgamﬂmmmmmaﬁwﬁﬁﬁgmmn:ﬁnua:q?
¥ T o9 F SR Qe g

A) 60% B) 50%
C) 25% D) 45%
Answer Key : B Your Response : Not Answered

Question No. 69

Read the following information carefully and answer the question given below.

Aravind, Bala, Chithra, Deepa, Hari, Maha, Madhu and Abi are sitting around a circle facing the
center. Bala is third to the right of Maha and third to the left of Abi. Chithra is fourth to the left of
Aravind. Aravind is not an immediate neighbour of Maha and Bala. Hari is not an immediate
neighbour of Bala. Madhu is second to the right of Deepa.

Who is to the immediate left of Bala?

A) Deepa B) Maha



C) Madhu D) Chithra
RAfAf@d TRy F & ¥ 9¢ 3R A U v w27 &1 3w &

3Rfde, arem, foa, &, &R, #er, Ay AR 36 o g F ARt AR FE AN g =S W §
e, F/ET & ¢ & Y AR I F e & Ay ' W E R Rl F e & 9 s
W ¥l 3R, #Agr AN aron F Aehean TP G &1 R, em F fAhedH gPE a9 § AY
AT ¥ a1 3 g T W F

MyEducationWire

916l & 918 3R UHGH 9T A FieT SoT 87
A) &t B) Hel
C) HY g D) f&ar

Answer Key : A Your Response : Not Answered

Question No. 70

How many times a half moon is visible in a month?
A) Four times B) one time
C) Two times D) Three times
TS AglT H Thaell I 3T gl fars ar g2
A) dIRER B) TdhaR
C) AR D) dHER

Answer Key : C Your Response : A (Wrong)

Question No. 71

Find the group of wrong alphabets in the following series.

LX, IL, SB, OD, NA
A) LX B) SB

C) IL D) NA



farfaf@a Aol & srea eR-ueg 1a ATl

LX, IL, SB, OD, NA

A) LX B) SB
C) IL D) NA
Answer Key : B Your Response : Not Answered

Question No. 72

'Onam' is one of the most important festivals of-

A) Gujarat B) Karnataka

C) Kerala D) Maharashtra

o' F R Agcaqor ARt A & T g

A) T ORId B) wdilce

C) XA D) HERTSE
Answer Key : C Your Response : C (Correct)

Question No. 73

What causes hydrophobia?

A) Rabies virus B) Bacteria

C) Acute virus D) Varroa virus

ESAPIAAT % HROT giar &7

A) e & Ty B) SIcIdTU g

C) da fawmrg D) a3 FT AW
Answer Key : A Your Response : Not Answered

Question No. 74

The Simple Interest on a sum of money for 2 years is Rs.50 and the Compound Interest on the

same sum at the same rate for the same time is Rs.51.25. Find the rate of interest per annum.



A) 6.5% B) 5%

C) 6% D) 5.5%

el 4o @ 2 a¥ & WUROT s $.50 & R 3A I oS & R 3@ s &
Thgfe SO £.51.25 ¢l sarer #r affie o w1 fiforel

A) 6.5% B) 5%
C) 6% D) 5.5%
Answer Key : B Your Response : Not Answered

Question No. 75

What is acupuncture?

A) Ancient Chinese system of medicine B) Method of curing cancer

C) Ancient Greek system of medicine D) Modern method of digging deep wells

TR T 87

A) Rafecar Fr g D= gomelr B) ®TT F STl I T

C) fafrcar r urieT T gome D) TP ¥ @eat A mufw Qe
Answer Key : A Your Response : Not Answered

Question No. 76

In the given figure, the circle represents boys, triangle represents
students, and rectangle represents teenagers. What does M represent?

A

// \\\
«'/ \\
£ X
\\
\

\
/ \

/3N [M\ \
O|K

A} Students who are both boys

and teenagers



Students who are not boys

Q) D) Students who are boys but

Students who are not teenagers
teenagers only

ﬁ"ﬁé’T TS F FwT Far g, T o F AW
A Fr PAERT w1 § M o BElg =G

%
%
7
Fy
/ I LY
o !
%
Fi
¥
7 1
%
%

/I NIM\
: 0| K
A) B)
3o OTSI I =T o5 IR 3T BTIF F, ST 5% Far
gar gt 2| gl
C) D)
: : 3 OTEN T S o5 g,
Answer Key : D Your Response : D (Correct)

Question No. 77

Cutaneous respiration takes place in -
A) Earthworm B) Fish

C) Man D) Birds

T 9w e gl



A) HITH B) wFofory #
C) samt # D) ufEwit 3

Answer Key : A Your Response : Not Answered

Question fo. 72 MyEducationWire

Which of the following is NOT the effect of modern agriculture?
A) Eutrophication B) Biomagnification
C) Ozone depletion D) Nitrate pollution
Prfafa & & #i @ yRE F a1 g T8 32
A) JUYUI(Eutrophication) B) ofa 3madisi(Biomagnification)
C) 37l 3ragra(Ozone depletion) D) ArseT UgYUl(Nitrate pollution)

Answer Key : C Your Response : Not Answered

Question No. 79

Which number will best complete the relationship given below?

4:128::6:7?
A) 192 B) 195
C) 194 D) 193

ot O HEAr A BT T Fow F FdleasT T A qOF

4:128 .6 :7?
A) 192 B) 195
C) 194 D) 193

Answer Key : A Your Response : A (Correct)



Question No. 80

In a party, one-fifth of the guests wanted cool drinks only. Out of the remaining, half of them
liked coffee and two-thirds like tea. If 12 of the guests opted for both coffee and tea, how many
guests had attended the party?

A) 72 B) 88
C) 90 D) 100
TH Uief #, 1/5 AgAA Fad AMdel 9T ST G ¥ AY F §, 3T AgAW S Hhr AT 98

frar 3R & Re & 9 oo v Rl Afy 12 AgAEEr S S AR T Qe A RweT o
g, ar Uit # Fo TR AgA WA gU A?

A) 72 B) 88
C) 90 D) 100
Answer Key : C Your Response : Not Answered

Question No. 81

Two students appeared for an examination. One of them got 9 marks more than the other. His
marks was also equal to 56% of the sum of their marks. What are their marks?

A) 39, 30 B) 42, 33

C) 43, 34 D) 45, 54

ar oEl F T qlET F ST R 3T @ i A qEy @ 9 3 e e W & 3ud i,
3o 3F F ART F 56% F WK A 3% 3iF AT P

A) 39,30 B) 42,33
C) 43, 34 D) 45, 54
Answer Key : B Your Response : Not Answered

Question No. 82

Which of the following is the first alkali metal?
A) Lithium B) Hydrogen

C) Francium D) Sodium



Tgel &R urg Pefaf@a & & #ia @ &2

A) fafagH B) grEgielet
C) heafRrH D) ®fsaH
Answer Key : A Your Response : Not Answered

Question No. 83

: - 1 11 1 1
Simplify: 1+ 2+ 2+ 2+ — 4 —
phify 3 6 8 12 24

A) B)

1.5 1.75
C) D)

1.25 2
Wﬁ: 1+l+l+l+i+i

3 6 8 12 24

A) B)

1.5 1.75



Answer Key : B Your Response : B (Correct)

Question No. 84

Complete the series.

755, 151, 75.5, 15.1, (...)

A) 6.12 B) 7.55
C) 843 D) 9.67
Soft & qout |

755, 151, 75.5, 15.1, (..)

A 6.12 B) 7.55
C) 8.43 D) 9.67
Answer Key : B Your Response : B (Correct)

Question No. 85

In this question, a statement is given followed by two conclusions. Choose the conclusion(s)
which best fit(s) logically.

Statement:
Vegetable prices are soaring in the market.



Conclusions:
|. Vegetables are becoming a rare commodity.
Il. People cannot eat vegetables.

A) Both conclusions | and Il follow B) Only conclusion Il follows

C) Only conclusion | follows D) Neither conclusion I nor Il follows

S0 W H, Th FUA & a1g a1 sy Qe aw g1 30 smd A (37 foswst @) g S arfees
T & FEq 39 B

HY:
IR 7 afesrat & a9 7 w@ £

sy
|. |fssrar Tk gerst gard gy o W &
I, oo |fesar sl @1 d&hd|

A) fasehy | 3R 1| gt 3ugea g1 B) ad A5y Il 3ugsa gl
C) &hdel 5y | 39T«d &I D) o a fIsshd | 3 & & |l 39g+d g

Answer Key : D Your Response : Not Answered

Question No. 86

If a, b, ¢ and d are 4 whole numbers such that a + b + ¢ = d where a, b, d are all odd numbers,
then find c.

A) Also odd B) O

C) Can either be odd or even D) Even

AT a, b, cANd 4T g afd a + b+ c =d @ a b, d gl faww F&@ §, & ¢
AT H

A) fass B) 0
C) a1 o fawH & Thar § I1 §H & Tohal g1 D) T@H

Answer Key : A Your Response : Not Answered

Question No. 87




Which of these can be a cause for soil erosion?
A) Ploughing of steeply sloping land B) All of the options

C) Cutting down trees D) Over-grazing of pastures

ST & FleT W FET HRG HT FNOT g1 Fohell 82
A) @I ol arely #HA Fr o B) faweul &34t
C) ust & e D) =Rmmgh &I rcafte =g

Answer Key : B Your Response : B (Correct)

Question No. 88

Choose the alternative that best replaces the question mark(?) in the

given figure.

27 38 ?
51 4 2

A) 19 B)
24

Q) D)

19



39 @ed &1 IU9 Y, Al HHid H 997 Bea (?) F WE W @
= & T wEfcaw sagwa &

8 A 6 7 7 2

27 38 ?
5 4 2 MyEducationWire
A) 12 B)
24
© D) 15
19
Answer Key : A Your Response : A (Correct)

Question No. 89

What will come in the place of "*'?

18/* = 2/7
A) 126 B) 63
C) 84 D) 14

s o TUT 9T Pl Y d&AT Uef?

18/« = 2/7
A) 126 B) 63
C) 84 D) 14

Answer Key : B Your Response : C (Wrong)



Question No. 90

Who among the following inaugurated the Diffo Bridge in 20197
A) Sushma Swaraj B) Rajnath Singh

C) Nirmala Sitharaman D) Narendra Modi

farafaf@a & & s 2019 # Bwr e & 3g@rea fFar?

A) AT TS B) T==y g
C) e Harer D) =g AT
Answer Key : C Your Response : Not Answered

Question No. 91

f4@9#3=1and4 @8#4=2,then5@6#2="7
A) 9 B) 5

C) 2 D) 6

I4@9#3=13R4@8#4=2% A5@6#2="

A) 9 B) 5
C) 2 D) 6
Answer Key : C Your Response : Not Answered

Question No. 92

Four vessels of equal size are filled with mixtures of milk and water. The strength of milk in the
four vessels is 80%, 75%, 60% and 50% respectively. If all four mixtures are mixed, what is the
ratio of water to milk in the resultant mixture?

A) 27:53 B) 13:27
C) 29: 51 D) 3:5
AT AR & IR dclel g AR 96 & Y07 § X &1 IR Tt J g B AT HAA: 80%,

75%, 60% 3R 50% ¥l I wofr I o v e REr sme, & s @B 7 gt 3k gy
T IHegaTcd FT GET?



A) 27:53 B) 13:27
C) 29: 51 D) 3:5

Answer Key : A Your Response : Not Answered

Question No. 93

Find the ODD one out from the given options.

A) F B) R
C) L D) Q
feT 1T Rpedt # & 3w A A
A) F B) R
C) L D) Q
Answer Key : D Your Response : A (Wrong)

Question No. 94

Rs.12000 invested at 10% Simple Interest and another investment at 20% Simple Interest
together give a 14% income on the total investment in one year. Find the total investment.

A) Rs.8000 B) Rs.18000

C) Rs.24000 D) Rs.20000

¥.12000 T TH TRT 7 10% WHROT A7 W @9 Far o= 3R e 3= ufr & 20%
mmwﬁaﬁrﬁmw,waﬁﬁgﬁrﬁa&rWM%mg%lgﬁ»rﬁa‘ermmtrl

A) %.8000 B) %.18000
C) %.24000 D) %.20000
Answer Key : D Your Response : Not Answered

Question No. 95

In how many years will Rs.5000 grow to Rs.10000 at 12.5% Simple Interest?
A) 8 years B) 12 years

C) 20 years D) 9 years



%.5000 & AR 12.5% WYROT AT W fhder auf F Fgat $.10000 g IREN?

A) 8 3§ B) 12 a¥ ) .
MyEducationWire
C) 20 a§ D) 9 a¥
Answer Key : A Your Response : A (Correct)

Question No. 96

Rakesh is standing at a point. He walks 20 m towards east and further 10 m towards south. He
then walks 35 m towards west and further 5 m towards north. Again he walks 15 m towards
east. What is the shortest distance in meters between his starting point and the point where he

is now?
A) 5m B) Cannot be determined
C) 10m D) 1m

THY U &g W @er ¥l g% @ 3R 20 Aew AR B fdor Ay 3R 10 e Fewr g1 A
g8 IREe #ir 3R 35 Mex AR 37F a1 3caw A AN 5 A Tolar g1 R a8 q@ i AR 15
ey gorar §1 38F A [g AR 3wh Alser Rufa & &g fr gaan gy At 7 fraer €2

A) 5HIeR B) faenRa =1l fovar S Fhar
C) 10 Hie’ D) 141
Answer Key : A Your Response : Not Answered

Question No. 97

If the time period of a sound wave is 0.02 s, then what is its frequency?
A) 50 Hz B) 100 Hz

C) 25Hz D) 500 Hz

Ifg frdlt eafer ader @1 3macisrer 0.02 &S §, o 3@ mgfed & 82

A) 50 E'é}r B) 100 aésr
C) 25 gt D) 500 g
Answer Key : A Your Response : A (Correct)

Question No. 98




Which of the following countries was the host of Men's Hockey World Cup 2018?
A) Malaysia B) India

C) Germany D) Pakistan

fAfaf@a # & et A1 <1 GO giehr faRa wT 2018 T AT 2 AT?

A) Helfdar B) HRd
C) SI#H=r D) urferEdre
Answer Key : B Your Response : B (Correct)

Question No. 99

If vy = 3+2/2. then find the value of /¥ -

A) B)

\H§+1 1

Q) D)

afy y=3+22 & Ay F 7= w1 FY



\E+1 1

Q) D)

Answer Key : A Your Response : Not Answered

Question No. 100

Find the LCM of 1.05 and 2.1.
A) 2.1 B) 0.6

C) 4 D) 1.25

1.05 3R 2.1 & F.8.9. (LCM) 79T ffaT|

A) 2.1 B) 0.6
C) 4 D) 1.25
Answer Key : A Your Response : Not Answered

MyEducationWire




